Chemistry 141						Name					


Dr. Cary Willard


Quiz 5 (20 points)					March 11, 2003





All work must be shown to receive credit.  Be sure to use the correct significant figures.





Data:  c=ν(, E=hν, 1/(=-R(1/ni2-1/nf2), λ=h/mv,(x (?h/4Π,  h = 6.626 x 10-34 J sec, c = 3.00 x 108 m/sec, NA = 6.02 x 1023 /mol, kw = 1.0 x 10-14 M2





(3 points) Write a complete electron configuration for Titanium


























(3 points) Write the electron configuration for Iridium using the shorthand notation.
































(2 points) How many valence electrons are found in an atom of Tin?














�
(8 points) Write the shorthand electron configuration for an atom of Neodymium (atomic number 60) and show the orbital diagram for all electrons beyond Xe.  (Remember those are the boxes with the arrows)  Write possible quantum numbers for these electrons





shorthand configuration














orbital diagram (indicate type of sublevel under each box or set of boxes)
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possible quantum numbers
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(2 points) Arrange the following atoms in order of increasing size.   Rb,K, Cs








Smallest atom __________________








Largest atom ___________________








(2 points) Arrange the following atoms in order of increasing ionization energy.   N, B, Ne








Highest ionization energy ___________________








Lowest ionization energy ____________________


